A short note about IVT
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Theorems

e (IVT) If f is continuous on [a,b], f(a) # f(b), and N is
between f(a) and f(b) then there exists ¢ € (a,b) that
satisfies f(c) = N.
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e f is continuous on [a, b|

e N is an intermediate value between f(a) and f(b)
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(6 points) Can the Intermediate Value Theorem be applied to f(z) = .
5—z ifx>1

to show that f has a root on the interval [0, 3]? Explain!

Selathn  We  (anhot PP % Zl// o 740 Ghle

i1 8 net (e o X=|

Pk [74 Joe Ayank t&}/icmfﬁ, ‘7Z 7%
Yo wmll <o V@ ZV/ fmy Yﬁa[ Am%

j \ Sinte Yool neihs 74\&
N=O_.

| I PN ..,._L

0,

/



TTTT YL o\ B \():U\
N=o_ L\ =0,
° )
-l
x|

_‘iS > e e want 1o 473/)/
X 71/7‘ ith, N=0 }

»

The Junobon g m:)w? t | (03]
<, da L,wvml [/u. N=0 N\g rol  intr et
rwn/\/ #L:L wrVe

@ (Emf?a e ZU7 S W&@'A/'J
Pt |+ Gosidor #a fwxsﬂm
= 5kX =X+ | (0,2)
let. N=0 . Verfy 3 4o wd V
gme;sf(u]L da  cnditons k@i(md 1’;1
VT and  state the one ashon o
IVT‘
Soluction - ]Cm:gkx EVEAR (;)i] - N=0.

&~ b



® ]Q@ 1S (ot NAR)  on f%lj,
¢ ]C(@): Sn0—0 +| = l
jﬁ(z\ —sn2-2 + l Zsnl “3 <0
(she sn@ < | fw N\}@B
CznTnYL N=0 ’V\A‘CI\, Yqo} M\ﬂ( ﬁl>

We hae +He)> N > f(ﬂ
T T 1

I o S‘:A’Z"‘z .
b ndeed o inbrmedids Vel detun
! : fto and 1.

Thtefore , tfs pprenants ‘7[ ZZT ‘ jZ
M({ELMQ ZI/T R W[Jag A
%'/\\\& ][‘ 3 N M\af. ﬁ;é.

QKA f).» CVWC(L&SSW\ Sl

Hoe DSt cé(i,p sk



Wen, ot
WY weTO Wy D L/ c \U; L/

)
7&((/}:_/\/ , el
snC —C+| =0 @

bt 2w bt | o Pave dot_
e eﬂuﬂm X = X~ he8

&t loast me oot

Sltlon + Wrte 60> = 51X — (X))
Eﬁ“’””\ fZi X —] /@3 s foot
B Q?/MU& t o

oot

S — (X =) =0 koA me ¢

ie, ezw\’ﬂz(w/\:(‘/ ‘o (fb
~]C(\,<3 =0 ket ma fo

e e,?u\Zm(U\rk/ to Hoe ¢ C



e, @U\mw\rt/ to Hae &

31(,[\, b(o‘(, jC(CB — 0

Ad ohe ]t ot we W"l
e PM’C ( 7

hwrk ) Zr\ Vew( €>@W\/) éw\/(ﬂ»(( hot
e Pt | The \lmlo(m/ wll be

Co}W&N e '&O(M\M\a/ f(m/r\, ;
’ - —

points) Use the IVT to show that the equation 2 — 1 has at least
(Remember to state why you can apply the IVT)
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